1. BEANBOHER (B ES2E T, FFEH5H 1 HBAE) (BEf7: A)
SER%25 | %26 | SERR2T | EA%28 | k29 | k30 | A FioT | A2 | aFns | aFn4
/NFRE| 3,675 | 3,667 | 3,641 | 3,650 | 3,670 | 3,656 | 3,640 | 3,629 | 3,615 | 3,570
e 1,979 | 1,941 | 1,931 | 1,807 | 1,765 | 1,674 | 1,727 | 1,736 | 1,785 | 1,762
REAE | 180 165 162 161 132 122 112 59 50 13
& Et15,834 | 5,773 | 5,734 | 5,618 | 5,567 | 5,452 | 5,479 | 5,424 | 5,450 |5, 345
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2. IBE (18 47~V XA OHR (BEAT 2 )
BEFN59 | SERf%Te | SRk | SERRT | SERRS | ERKLL | SERK20 | SERK2L | SER2T | 2
INFREL 180 190 205 230 240 250 250 250 260 280
ke 216 230 248 270 280 290 290 290 300 320
IR AR 150 160 165 170
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